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QUESTION 1
Identify two correct statements about stopping instances and Oracle RAC databases

A. To shut down an Oracle RAC database completely, you must shut down every instance that has the database open
or mounted.

B. After a NORMAL or IMMEDIATE shutdown, instance recovery is required
C. srvctl stop instance shuts down the Oracle RAC database.
D. crsctl stop crs stops the stack on the node, including the database instance.

Correct Answer: AD

QUESTION 2

ASM has multiple redundancy levels. Identify three of them:
A. No mirror

B. RAID 5 mirror with a 1 parity disk

C. RAID 1 + O mirror

D. RAID 1 + 1 triple mirror

E.RAID5

Correct Answer: ABC

QUESTION 3

Which statement about multipathing is incorrect?

A. Multipathing solutions provide failover by using redundant physical path components

B. Multipathing is a software technology implemented at the operating system device level

C. Multipathing improves system performance by distributing the 1/0 load across all available paths.

D. Multipathing is automatically configured when Oracle ASM discovers multiple paths to the same disk space.

Correct Answer: D

QUESTION 4

Which three statements about Oracle RAC background processes are correct?
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A. ACMS (Atomic Controlfile to Memory Service) is an agent that contributes to ensuring that a distributed SGA memory
update is either globally committed on success or globally aborted if a failure occurs

B. GTXO-j (Global Transaction Process) controls the flow of messages to remote instances, manages global data block
access, and transmits block images between the buffer caches or different instances

C. LMON (Global Enqueue Service Monitor) monitors global enqueues and resources across the cluster and performs
global enqueue recovery operations

D. LMD (Global Enqueue Service Daemon) manages incoming remote resource requests within each instance

E. LMS (Global Cache Service Process) manages non-Cache Fusion resource requests such as library and row cache
requests

F. LCKO (Instance Enqueue Process) manages background slave process creation and communication on remote
instances

Correct Answer: ACD

QUESTION 5

Which two statements about the Grid Infrastructure Management Repository are correct?
A. Itis a single instance database that is managed by Oracle Clusterware.

B. It is where the Cluster Health Monitor places data.

C. Itis created during a \\'\\'Typical" installation.

D. Itis stored in the ASM disk group that is used as a Fast Recovery Area.

Correct Answer: BC
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